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What is the smallest particle into 
which an element can be divided 
and still be the same substance?
• A.  electron
• B.  neutron
• C.  proton
• D.  atom
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How did the Greek Democritus 
describe atoms?
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• B.  small, hard particles that were dividable.
• C.  small, hard particles-like a tiny marble
• D.  large, hard particles
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If an isotope of uranium, 
uranium-235, has 92 protons, 

how many protons does 
uranium-238 have?

• A.  92                       

• B.  95

• C.  143

• D.  146
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 What did Democritus, Dalton, 
Thomson, Rutherford, and Bohr 

all have in common?
• A.  They each identified new elements. 
• B.  They each identified new isotopes of
        atoms.
• C. They each discovered something about what 

we know about atoms today.
• D. They each were born in Greece..
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